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Shri Jain P G College, Bikaner

CP-1141

M.Com. (Previous) EXAMINATION, 2015
ACCOUNTANCY AND BUSINESS STATISTICS
First Paper

(Management Accounting and Financial Control)

Time allowed : Three hours

Maximum marks : 100
Attempt any five questions in all. selecting at least

one question from each Unit. All questions carry
equal marks.

gAF gHE 5 3 FH-H-FF 0B J7T B GIT
#vd gu e gfa ge % owe Aad) g
g7t & y& THT 2
Unit - 1
5518 - |
Discuss the functions and responsibilities of management
accountant. 1446
yagRISTd ST @ FHIdT Ud SoRadEt 3 faaeen S |
From the following figures and ratios make out the Balance

sheet and Trading and profit and loss Account. 10+10

P.T.O.
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frt aiferer @ oIl & fCoT T AR T4 dri—gia
@IAT TR B |

R
(a) Share capital 72000
(sfer i)
(b) Working capital 25200
(preiefier o)
(c) Bank overdraft 4000
(@ srffaad)

There are no fictitiuns assets. In current Assets there are no
asscts othcr then stock, debtors and cash. closing stock is
20% higher than the opening stock. .

R ¥ g Hm wrRy 7E 2| e vkl § wie,
TR T NP B renar AR P wwferar wE &1
wie TRMAS Wi | 20% AHE 2

(i) Current Ratio 2.5
(aeg, SrFaTe)
(ii) Quick Ratio 1.5
(w@Ra 3r) |
2 CP-1141

4

(iii) Proforietory Ratio (fixed Assets/Proprietory fund) 0.7
i squra (Remg Wt /@ a)

(iv) Gross Profit Ratio 20%
(Feher e ST
(v) Stock Turnorer 4 times
(T amai)
(vi) Dcbtors velocity 36.5 days
CRERID)
(vii) Net profit to paid up capital
(g 1/ g gfl) 10% -
Unit - IT
R - 1
3. Whatis fund flow statement ? Why is it prepared ? Briefly
explain the method of preparing this statement. ~ 5+7+8

PIY FaTg fIaRoT | A9 T HHIA & 7 g I 1 e
2 ? 29 R & TR &3 @ A deu F Fwemgd |

4. The balance sheets of Tej & Company Ltd. as at March 31,

2014 and 2015 are presented as follows :- 20
& e R e @ 31 A, 2014 T 2015 B fred
M yga fd M E-

CP-1141 3 P.T.O.
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Equity Capital

Bills Payable 14000 | 26000

————

|
Liabilities | 31.3.14 | 31.3.15 Assets 31.3.14 1313 15,

50000 | 60000 | fixed Assets 70000 | 88000

P&L Account | 26400 | 20900 Investments | 10000 | 4000¢

Debentures 35000 | 35000 Cash 6000 8000

Accumulated | 2000 | 21500 | Debtors | 700012000

|
Deprectiation |
i

Creditors | 7200 | 9000 | Prcpaid Rent| 3600 | 2400
i

Taxes Payable | 6000 6000 Stock 32000 | 28000

158600 | 178400 158600 |[178400

Additional Information : (i) Purchased a new fixed assets
costing ¥ 25000, Paid ¥ 13000 cash and gave short term
bills for the remainder; (ii) Issued additional capital for
cash (iii) Disposed off a fully depreciated asset having an
original cost of ¥ 7000 and no salvage value; (iv) Net profit
for the year amounted to ¥ 2000 (after tax) .

SRR GEAT : () T 3 25000 ARTA F AL VIl
R @) T i) fRed Gof s A Frtfi @ TE;
(i) T Qi aR TRy @1 Frare fear a fe
¥ T % 7000 AT B QAR qed TEI AT| (iv) X

qTaTT a9 F AT ¥ 2000 T |
4 CP-1141

E— .

i+ Prepare a cash flow statement.
ABE yaTe 1 fawor 3R B |
Unit - I11
18 - 111
5. Explain 'over capitalisation' and "under capi.talisation‘.

Which of the two, do you thiﬁk, is better from the view-

point of financial management ? 5+5+10

HfT—GATPROT T e golaeor &l FHEsy | iy
Y9 B giedpIoT § A1 A | fF a9 srot wwe £ 2

6. Abhishek Limited has currently an equity share capital of
% 25 Lhkhs consisting of 25000 shares of ¥ 100 each, The
management is planning to raise another another ¥ 20
Lakhs to finance major programme of expansion through
one of four possible financing plans. The plans are.

(i) Entirely through equity shares.

(i) ¥ 10 Lakhs throngh equity shares and ¥ 10 Lakhs
throngh long-term barrowings at 8% p.a.

(i) ¥ 5 Lakhs through equity shares and ¥ 15 Lakhs
throngh long term borrowings at 9% interest p.a.

(iv) ¥ 10 Lakhs through equity shares and ¥ 10 Lakhs

through preference shares with 5% dividend.
CP-1141 5 P.T.O.

<
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the impartance of capital budgeting from the point of view

The Company's expected ‘Earning Before Interest and Tay' ¢ ofindustrial concern. 8112
(EBIT) will be < 8 Laks. Assuming a corporate tax rate of TN I A oy aE wEER R ? U S deen @)
50%: determine the Earning per share (EPS) in each : gt § IO aofed & wew @1 fadea S |
alternative and comment on the implications. 8. Sweta Limited has the following capital structure : 20
szgqusmaﬁmamdﬁﬁ%w ﬁmmw@mﬁﬂmﬁ%:

< 100 A 25000 i H FEAI &1 S TR AR | Book | Marke
Wmﬁﬁwﬁwawg@aw \Value | Value
it & fig gaEE g 3 20 d SR A F ) | \?1?
TrorT &1 38T & | ArorTg g9 HPR gl Equity capital (25000 shares of 10 each) \ 250000 | 450000

]
L 13% preference capital (500 shares of 100 each) | 50000 | 45000
(i) ot o ¥ < S Ew | |

(ii) ?mar@marzﬁgmamﬁmm,s%mﬁm
TS €% TR SEEe kO &R
(iii) ?5mmdsﬁmﬁwv15m9%mﬁ?ﬁ

|
Reserves and Surplus | 150000 |‘ -

‘ H
14% Debentures (1500 debentures of ¥ 100 each) u50000 ‘;\ 145000

|
| 600000 | 640000

The expected dividend per share is ¥ 1.40 and the dividend

et Y AT R &N T ’ per share is expected to grow at a rate of 8 per cent for
(iv) ¥ 10 org |HdT 3l gTRT AT I 10 T 5% <Rl ever. Preference shares are redeemable after 5 years ;\t par
arer T SfE g whereas debentures are redeemable after 6 years at par.
FEET P AT TG P BRG] o ¥ 8 gt | fm The tax rate for the company is 50 per cent.
BN Pl & 50% A gl eI fded | sy i ot You are required to compute the weighted average cost of
7o P T IREEl B A=A o | capital for the existing capital structure using market value
Unit - IV as weights.
o1 - IV - CP-1141 7 P.TO.
7. What do you understand by capital Budgeting ? Explain
6 CP-1141
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10.

gﬁmm@amwm%mmmaﬁaﬁ

mﬁmélmmsﬂmm@w
W%lmmwea&mwwwm

3| o B forg @R #) IR 50%
S et @ i B w9 A o A A gy o
W%WWWWWE&WWl
Unit -V
g8 - V
Discuss the various kinds of reports prepared by the

management accountant for different levels of management.

S arer it g &1 fdE B |
A multi product company gives the following data on cost

and sales for the three products manufactured by it. 6+7+7

wag—wma#mﬁgma—cqﬁﬁ%QW3mﬁa%

SRIGECS ﬁﬁ% TR o I TR o

Products | A B C

Sales Mix (% of sales value) 40 30 0

Selling price per unit (¥) 400 250 200

Variable cost per unit (¥) 200 100 126
s CP-1141

: -CP-1141

/

¥ Fixed cost per unit (¥) 100 50 40
Total sales : & 10000000

Fel fasa © ¥ 10000000

The current level of production absorbs the entire fixed
cost of the company; the management of the company wants
to discontinue 'C' and in troduce 'D' to inprove profitability.
The revised data on production and sales are as follows :
Seqres @ adaE WR R Bu @ /g Rer o
raeifise & ol &1 BY P YEw IE g § fh
e 'C' B I IRD TP WM R IAE D' BT WA
o SR 1P STETE@dT ¥ GUR B | Swed 0@ e

@ WA MFS T TR &
Products A B C
Sales Mix (% of sales value) 50 30 20

Selling price per unit (¥) 400 250 320

Variable cost per unit (¥) 200 100 180

Total sales : ¥ 10000000

Gl famd © T 10000000

You are required to determine : (i) fixed costs of the

company per annum. (1) Profit currently earned and profit
oduction of product D"

P.T.O0.

likely to be earned after the intr
9
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CP-1132

M.Cor1. (Previous) EXAMINATION, 2016

ACCOUNTANCY AND BUSINESS STATISTICS
First Paper
(Management Accounting and Financial Control)

Time allowed : Three hours
Maximum marks : 100

Attempt any five questions in all, selecting al
least one question from each Unit. All questions
carry equal marks. '

% s978 § & FH-T-F7 wmwmaf_?#
gu g7 arg gw & Fa¥ g aH T E
i qATT &/
Unit-I
-l
]. “Management Accounting is concerned with accounting

:nformation which is useful for management.” Discuss and

also explain its functions. 10 + 10

veraree I AT T A S AEieT GEATT  ger §
St e ¥ forT ATHETE et ¥ FreT diferd 3T @

Frd W Ty |
P.T. O.
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2

. lance Shee
From the following information, prepare & Balance Shect

of Tejas Limited :

Frerforfare e & o forfiz @ e AT -
(i) Current Ratio 25
(ST Srer)
(ii) Liquid Ratio 1.5
(e stgaa)
(iii) Proprietory Ratio (Fixed Assets/Proprietory Funds) 0.75
e st (waré ARt #)
(iv) Working Capital T 60000
(Freefier i)
(v) Reserves and Surplus T 40000
(¥ o arrfer)
(vi) Bank Overdraft T 10000
(¥ siferfred)
There is no long term loan or fictitious assests.
drefarelie o1 ud FiEw dufmat T8 §) 20
Unit-IT
-1

The following are the summaries of the Balance Sheets of a
company as on 31st March, 2014 and 31st March 2015.
faeifea o Fft ¥ 31 W, 2014 w31 W, 2015 &
et @ witm s ¥ :

2 CP-1132

“'Liabilities 31314 31.3.15 Assets 31314 31345
L 4 T L 4 ?

Share Capital 400,000 6,00000 Land and Buiding 3,00000 400000
Profit and Loss Alc 2,50,000 3,50,000 (at cost)
DeprecationFund 80,000 120,000 Piant and Machinery 480000  6,30,000
Bank Loan 1,60,000 80,000 (atcosl)
Sundry Creditors 120000 135000 Inventories 180000 2,00000
ProposedDividend 40000 60000 SundryDeblors 100000 155,000
Provision for taxation 40,000 55,000 Cash and Bank
Balance 50000 15000
10,90,000  14,00,000 1080000 14,00,000

(a) A machinery which was purchased for T 60,000 was
sold for ¥ 4000. The book value of the machinery was
% 6000. The company also purchased new equipments

during the year.

(b) The company had issued new shares to the extent of
¥ 2,00,000 for cash.

(¢) Tax paid during the year amounted to T 43,000.

(d) Proposed Dividend and Provision for Taxation to be

treated as non current liabilities.
You are required to prepare :
(i) Statement of Changes in working capital

(ii) Statement of Sgurces and Application of Funds.10+10

CP-1132 3 PT.O.
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(a) & wef o qex 60,000 & F &4 A A, 4009 T
I H ¥ e & @S A 6000 T AT FAAT F
T ¥ 73 Sy | @)

(b) at ¥ & & 2,00.000 T F A% ofw FbE A Y
(c) af ¥ 43,000 & #T & YA {1 AT
(d) ST TR AT ST AT A 1 TR o
gl

IR I FE & ¢
(i) i G F oftada & e @
(ii) BT F qryT TF ITAET & FE
How far can Cash flow be taken to be a me-sure of
profitability ? discuss with examples. 20
Jqs vaTe f3a<or Ft Tl aF ATHEESAT HN ATIH AT A0
AT & 7 SeTe |fed aren S|

Unit-III

zaE- 111

Explain the concept of working capital. What are the factors
affecting working capital of a company. 8+12
Friier §oft & FaeTTT W HT | TH aﬁmﬁ & FriE
it STRT FA AW FF DA E 7

With the help of the following figures; compute Return on
Capital Employed on the basis of (i) Gross Capital Employed,
(ii) Net Capital Employed, (iii) Average Capital Employed.

4 CP-1132

- (i) S s 8 ) T A gy

(iii) shrwer Rfifom T % smam ox

T R

Balance Sheet

Liabilities X Asets

Share Capital Fixed Asscts (at Cost 20,0000
Equity 10,00,000  Less Accumulateq

Depreciation 1,00,000

16,00,000

Preference 5,00,000 Investment : Quoted  1,00,000

8% Debentures 5,00,000 Unquoted 2,00.000

Reserves and Surplus 2,00,000 Current Assets 3,00,000

Current Liabilities 1,00,000

Patents and Trade Marks 50.000

Preliminary Expenses 50,000

23,00,000

23,00,000

Other Information :
1.

Reserve and Surplus include current year’s profit of

320,000 with interest on debentures for one year and

tax provision @50%.

Income from quoted investments @10% is included in

current year's profit. Such investments being non trade

Net capital employed at the beginning of the year was

4. Patents and Trade Marks will be realised at their book

2.
investments.
3.
% 20,00,000.
value.
CP-1132 5
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Y A :

I, s o s & o o O A€ T 50%
#ﬂamm%mmﬂm&wﬁ
¥ @ aferfera ¥

2. Wq\i};mﬁﬁwﬁﬁﬁ!ﬁﬂ 10% # T
aftrfor &1 ¥ Rfd - R ¥

3. w6 % wrow § g R T 2 20.00000 6

4. ﬁzﬁmmwwﬂaﬁm%l

Unit-1V
-1V
Z limited has a machine having an additional life of 5 years which
costs T 1,00,000 and which has a book value of T 25,000. Anew
machine costing  2,00,000 is available. Though its capacity is
the same as that of the old machines it will mean a saving in
variable costs to the extent of * 70000 p.a. The life of the machine
will be 5 years at the end of which it will have a scrap value of

20,000. The rate of income tax is 60% and Z Ltd. does not make

an investment, if it yield less than 12%. The old machirte is sold,

will fetch T 10,000.

Advise Z Ltd. whether the old machine should be replaced

or not Present value of X 1 receivable annually for 5 years at

12% = T 3.605; at the end of 5 years =¥ 0.567 and at the
end of 1 year = 0.893. ‘ 20

6 CP-1132

! ﬁzﬁﬁh%m@mﬁwﬁmmlm,ooos,@
gﬁmgarzs.m()s.%,saéwshrtsﬁaamg.@
2,00,000 &. ¥ AT F¥ THT THT ITHA &) 7wy g
ST et et et foret & ¥, B o s oRadgig
AT & 70,000 . ATfEH A T4 B W A a7 ofyey
F1er 5 A ¥ foras o & gaa 1@ I 20,000 . Bvr
AIF A 7T 60% & 7T I3 frfes a7 7% i g
TEl Fcll 97 FF A 12% T 7 &1 GOt w4 sy
X ¥ 10,000 & ST &V 1 S e 7 v SR B
gt wofe wfoenfae & o ST A | s ar 129
arﬁa:zz%mﬁ%qzsmf%imaﬁmgw&sos
%; 5 44 & o F af g 0.567 ® adt | ad ¥ ot
¥ adue g 0.893 %, ¥

8. What do you understand by cost of capital ? How would you
determine cost of different elements of cost of capital ? };ow
does it affect the capital structure of 5 company ? 5+10+5
Lot Y S A AT o g ¥ (R ARmoa A A
T AT R R e w0 P 7e R i R A
& wwe ol =0k

Unit-V
E-V

9. “Report is not a statement of complaint but a statement of

information for management decisions.” Comment. 8+12

CP-1132 7 PT.O.
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10.

“sfvde Rrerrm a1 R A€ Af9g s i
IR a7 faeor &) foadt i 9T OF T
St & fAgrgand aard |

The management of Sweta Ltd. has to make decision in

respect of replacing the present equipment. The details

available are :

(a) Present Process : (i) Labour Z 11 per day; 300 days in
a year; annual wages bill ¥ 3300; (ii) Daily production
is 220 handles; annual handles 66,000; (iii) Cost of
material is T 6600 per year @10 paise per handle; (iv)
Insurance and other overhead cost are allocated on the
basis of 100% of direct labour cost (Insurance of raw
material T 33).

(b) Buy : Buy handles ¥ 15 per hundred, the cost of handling
this manufactured part would amount to ¥ 50 per year.
Insurance cost of manufactured handles will be double
that of insuring the materials.

(c) Lease : Lease the machine from Y Ltd. (i) Rent of
machine will be T 30 per month, (ii) machine will require
the service of one skilled operator who will be paid T
6 per day; (iii) The cost of insuring the machine will be
< 83 per year and power consumption in that machine
is ¥ 120 per annum.

Advise the management as to which alternative may be
adopted. 20

8 CP-1132

e geT ¥ gt & we # W fafies ¥ s

< Frofr aaT &1 W T @ S ¥

) adam fafy : (@) 7 11 & 5 Ra; af & 300 R

anfife worg Y e 3300 &, (i) AT Samew 220 &,

a5 66000 &, (iii) ATFHH P ATTT 6600 & wfr 7

@10 ¥ &7, (iv) HIAT AT I TR 2 T

sry ST % 100 S F ATAR 9T e R o

¥ (amrft @1 d 33 %)

ey : 15 ® 9y Foer & v @83 w fAfidq s

& gorE & A 50 ® Wiy af Enfti ffia s A

ST AT FA AT H A FGIAT @MW

(©) Tgr : wet aré for. & o O &t (i) v o fhara
30 & gfy #rE I (i) 7T O OF T IS
ATt &Y sawrEar e, Bl 6 & wfafle fRar s,
(ifi) 7T 7 AT FA A AT 83 & wfo T A
3q et F s wifa & AFT 120 & gfa af e

o @7 OF SR f A-a1 e AgEET e

(a

®)

CP-1132 9 2200
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CP - 1127

M.Com. (Previous) Examination, 2017
ACCOUNTANCY AND BUSINESS STAT ISTICS
First Paper

(Management Accounting and Financial Control)

Time allowed : Three hours
Mm imum Mar ks 100

muupf any five questions in all, selecting at
Jeast one question from each Unit. All questions

carry equal marks.

g g ¥ 8 v e # 99T B ET el
gig ne=) & g Sfon) e qEE @ 3w T
2

g/ -

UNIT -1
gars — I

1. Discuss the objectives, scope and limitations of Management
Accounting. [7+ 7+ 6]

ma@m$m aﬁaamﬂmaﬁaﬂfaﬂwaﬁﬁm

2. Complete the following Balance sheet, assuming that only the

equity capital and retained profit figures are given : [20]

45 AT §U 5 dao wwar Goft qe vl @t & st

fed g0 & faw fag &) g1 #ifyg |
CP-1127 (1)

P.T.O.
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Liabilities 4 Assets 4
Equity capital 3,00,000 | Fixed assets | ......
Retained Earnings | 3,00,000 | Inventories | .....
Creditors - Debtors | .....
Cash | ...

You are given the following further information :
sy it gaam ik &1 ol € -
(i) Total debt is two-third of net worth;

B U g I BT <U-IEE &

(i) Turnover of total assets (based on sales) is 1.8;

agawfﬁmﬁ(ﬁaﬁwamﬂﬁﬁ) 1.8%;

(iii) 30 days sales are in the form of debtors

30 o7 9 A TERT @ ®U A &;

(iv) Turnover of inventory (based on cost of sales) is 5

= aTad (e arTa W M) 5

(v) Cost of sales in the year is £9,00,000, and
o ¥ 3 T A F AT 9,00,000% &, T

(vi) The acid test ratio isl:1

arvel TeToT U 1: 1%

CP-1127 (2)

o

UNIT - 11
ECOri | |

3. What is 'Funds Flow Statement' ? Discuss the sources of funds
and the uses of funds.

Y yarE faRer @a1 2 ? BN & 9EE Ud PN D gy

BT Ui

I |

[5+8+7)]

4. The balance sheets of Shyam and Company Ltd. as at 31st

March 2015 and 2016 are presented as follows : [20]
v que W fAfes @ 31 WIE 2015 AT 2016 @ fig
A g R Y E
Liabilities |31.3.2015|31.3.2016 Assets [31.3.2015{31.3.2016
(4 T - X 4
14, Tauity capital 50,000 60,000 | Fixed assets 70,000 88,000
P and L 26,400 20,900 | Investments 40,000 40,000
1 Account
Debentures 35,000 35,000 | Cash 6,000 8,000
Accumulated 20,000 21,500 | Debtors 7,000 12,000
Dep.
Creditors 7,200 9,000 | Prepaid 3,600 2,400
Rent
Taxes payable 6,000 6,000 | Stock 32,000{ 28,000
Bills payable 14,0001 26,000
1,58,600| 1,78,400 1,58,600| 1,78,400

Additional Information :

afaRed

CP-1127

(i) Purchased a new fixed asset costing ¥ 25,000; paid
-Z 13,000 cash and gave short-term bills for the remainder

25,000?aﬂmaﬁwa§mﬁqﬁ‘tmnﬁ;

13,000 ¥ Wawma}fmmmﬁﬁ?ﬁaﬁﬁ@;
(3) _P.T.O.
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(ii) Issued additional capital for cash;

i S s A R AT

(i) Disposed off a tully dcprccimcd asset having an ariging|
cost T 7.000 and no salvage value |

e ol wR sz%{»aﬁl PRl fT T SR g
< 7.000 3 BT I AR U =8 e,

(iv) Net profit for the year amounted to T 2.000 (after tax).
@< ugard a¥ &1 Y& AM 2,000 T AT

Prepare a cash tlow statement as per AS-3 (Revised)
T HEE-3 (WG B SER AES WA H1 fdeRe
TR PR

UNIT -111

e — 1

n

. Explain the concept of 'Capital in Accounting. Give its

various classification based on : [3+5+5+3]
araiea § T @ FEmRen B W FR | s A=
ERICTURE I

(a) Source
| W

(b) Pertod. and
FE R®, AR

(c) Application
WA W AERa

CP-1127 (4)

6. The present capitalisation of a company is as follows :
. [7+746]
v HOR @ adHE Yol Feafafad @

80.000 Equity shares of T 10 cach \ 8.00.000

9%. 4.000. Red. pref. shares of X 100 cuchj 4.00.000

8%. 8.000 Debentures of T 100 cach \ 8.00.000

lzu.oo\uoﬂ

The present earnings of the company before interest and taxes
are T 3.00.000 per year. The company is in need of T 400,000
for purchasing a special machine. The additional investment is

expected to carn 15% per year. Advise the company as
whether the requisite amount should be raised by issuing
equity shares or preference shares or debentures. (Assume
income tax at 60%)

oot @ T @ FEED B adEE It 3.00.000 3 AfES
3w @ e A wE w@dey B fAT 4.00.000 ¥ @
s 2| RReT R W 15% afe o @
AT € | _
) @ e AR 5 snevad W wEl I R
@ﬂwmﬁawma%ﬁvm@maﬁml
AR P T 60% W |

UNIT -1V

e -1V

7. Abhishek Mills Lid. is considering the purchase of a mew
machine which will carry out some operations which are at

CP-1127 (5) RTO.
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present performed by labour. X and Y are alternative models,
The following information is available : [6+7+7]
s e ffite w1 A @ @1 Rar 31 3
o f5 adam A wfrel grr A o @ wE @ wely
Ty qen A dafeud Hisa & | R gEer Sueer R

Machine X W Machine Y
3 k4

Cost ol Machine 15000 | 24,000 |
| Ustimated life of machine 5 .y«::Ql-s 4 years
Estimated saving in scrap p.u-. T L000 1,500
Estimated cost of indirect material p-a. B 600 800
Estimated savings in direct wugcs—p,a.- 9,000 12,000
Additional cost o' maintenancc p.a. T 760 1,100
Additional cost of supervisions p.a. l_'ld 1.600

Depreciation will be charged on a straight line basis. A tax ratc
of 50% is assumed. Evaluate the alternatives according to :

T W Y gEfd WS S | @R @) X 50% B

' At & omR W Wl f[AEedl w1 e

(a) The payback period method;
I (@‘a;

(b) Unadjusted return on average investment; and

airaa ffT R rEEaTag gaag fafer; qen

(c) Present value index method (cost of capital 8%}

A Hed Gaeid gga (Sl DY AT 8%)

Note: The present value of ¥ 1 @ 8% per annum received
annually for 5 years is 3.993 and for 6 yeais is 4.623

faret : 8% @ <X W | ¥ wffwm 5 o oF @ g wiE B el
W G qed 3.993 X @1 6 @ a@ @ fag wr g
T W A 46233 7|

CP-1127 (6)

by

g. What do you mean by Management Information System ?
What are the characteristics of a well designed syslém ?

. Explain the procedure for installation of this system. [5+8+7)
vy EEl VO | SIa F S & ? U el 9IR
fafifa woelt @ aa@ @e & ? g8 yomen @ e faf
|A=gy |

INIT-V

7@1g —V

9. Discuss L impﬁrtén‘cc'of reports for management. What are
{he essential charaztc, tics of a good report for management ?
Explain control repoil. [7+7+6]
udm?guﬁrﬂaﬂ%nmﬁﬁﬂamﬂm}magw
i ) andvad fdary @ € 7 ferzmor wfAEA B
GREIEN

10. Sweta Limited, which produces three products furnishes you
the following data for 2015-16: [12+8]
@mﬁmammmmmmamw

2015-16 @ ferg Frfalaa st TR 4 €

Products

C
50
__’_/ D
Selling piice per unit €] m
T Rato (Y
Profit Volume RJM’_. ; 5000
.+ sale ential (units -
Maximum sales pokmn_(_/__ — > P
Raw material conient as percentage ©
variable cost (%) L—
P.T.O.
CP-1127 (M
— ——
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L e e

The fix
uses a single raw material in all the three producgg Rivy
material is in short supply and the company has a quota To; the
supply of raw materials of the value .of X 18,00,000 for the
year 2015-16 for the manufacture of its products to meey its

ed expenses arc estimated at ¥ 6.80.000. The Company

sales demand.

I IRl @ 6.80.000 ¥ & | FE AT Seed #
& el G B SEINT G 8| FEE A Bl it
5 qor @ @ g ) @ AN BRI B o sy
Saqrel @ Fmfor &g 2015-16 & T T 18,00,000 Fey oy
wfy @ qff @ s (@eT) B

You are required to :
3IMIDT PR &

(i) Set a product mix which will give a maximum overall
profit keeping the short supply of raw material in view.
Hw) AT 91 G gfef @Y e H WA gY S fAs
%7 PR HRAT & S SAferpaR Gl oW T WS |

(ii) Compute that maximum profit.

I IRFTH o™ DY TOET BRAT B |

CP-1127 (3)

Scanne d with CamScanner




No. of Pages - 11

......
......................................

CP-1140

M.Com. (Previous) Examination, 2018
ACCOUNTANCY & BUSINESS ST ATISTICS

First Paper

(Management Accounting and Financial Control)

CP-1140

Time allowed : Three hours

Maximum Marks : 100

SECTION-A (Marks :2x10= 20) -

Answer all ten questions (Answer' limit 50

~ words). Each question carries 2 marks.

gs-d (I 2x10=20)

T ag ¥l @ IR AR (ST AT 50
W) | Sl W 2 3F B B
SECTION-B  (Marks : 8 x 5=40)

Answer any five questions out of seven (Answer
limit 200 words). Each question carries 08 marks.

e - § (3F  8x5=40)
| ¥ 4 5 o aeEl @ SR A (STR
JHT1 200 IIE) | TAB TRA 08 3F BT 2 |
SECTION-C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer
limit 500 words). Each question carries 20 marks.

g - | @i [20 x 2 = 40)
TR % % Rl @ 3 IR AR (@R
AT 500 ¥TeR) | TAS I 20 3k BT |
(1)
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1. ()

(i)

(iif)

CP-1140

SECTION-A
grg — A
What are intangible Assets ? Give four examples. [2]
o wafert @ ¥ ? AR SereRy AR

%4,00,000 is the cost of goods sold of a concern during
2017-18. If inventory turnover is 4 times, calculate
inventory at the beginning and end of the year. Inventory
at the end is 1.5 times of that in the beginning. 2]

Th TR F g¥ 201718 B SR I T AA DI
ST %4,00,000 & | TfE b aad U 4 AT € A
98 B UR™ T o @ W B AW 3 PN | W B
I B T A B YR G Wb BT 1.5 A 8 |

Calculate fund from operation from the following

informations : 2]

4
(1) Closing balance of profit and loss a/c 4.00.000
(2) Depreciation written off 30,000
(3) Loss from sale of machinery 10,000
(4) Non-operating exp. & losses written off  1,20,000
(5) Non-operating income 80,000
(6) Opening balance of Profit & Loss a/c 1,20,000

frefeRRaa @ & uRaEred & SISl Bl T BT -

4

(1) FATHT R B BT AG RN BT FAGT  4,00,000

(2) HouETd ¥ W ford MY 30,000

(3) ==Y @) faepr A =1fA 10,000

(4) TR—aITRfET &7 3R FodH 1,20,000
¥ SR forg Ty

(5) R—affeRfeT ama 80,000

(6) ©m 3R B &1 G arell ¥ 1,20,000
(2)

i)

V)

(vi)

(vii)

Explain the computation of cash flow from operating
activities by direct method. 2]

gRared el ¥ yaog A g’ Jee wawt &
WO FHATSY |

What do you mean by wealth maximization of

shareholders ? 2]
SR & TEET ARETHEII § Y T THIAT & ?
Name five factors affecting fixed capital. - 2]

wrfl G B oy R @l ot a3 AW
fafay |
What will be the after tax cost of pref. shares. If— [2]

(1) Shyam Ltd. issued 3100, 4,000 pref. shares at 3%
discount.

(2) These shares are redeemable after 10 years at 5%
premium.

(3) the cost of issue is T2 per share.
Sy et @ PR gwE qolt @ @ B At

(1) T fafes ¥ 3% BT W 100, 4,000 ST
IR R fHaAr|

@) ¥ 3R 10 98 B AT 5% NATH W ARRT T ¥
(3) 339 @ @rTa T2 9T IR B

(viii) Find out payback period from the following information :

CP-1140

(2]
®)
36.000
16.000
14,000
12,000

(1) Cost of project
(2) Estimated cash inflows I year
I year

III year

(3) P.T.O.
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CP-1140

=t e @ srerft orafer s @R

(1) uRawET & ard 36 9
() T Fwe wa®  yuw af 16‘200
000

fadra of 14,000

Q'rﬁ'!l GAl 12,009

(x) Write any two differences between

special report. general. report &

maﬁ&wﬁﬁaﬁaﬁéa‘rm%ﬁm &
(x)  Give formula for shut down point.
a1 7% fag &1 g3 S :
SECTION - B
e - g

From the following

. information
(i Curtent Assory & calculate the amount of

Current Liabilities, (iii) Liquid Assets

and (iv) Stock.

- . 8
(1) Ratio of Current Assets to Current Liabilities 1.75 [ 1]
(i1) Ratio of Liquid Assets (Debtors & Bank o

' Balance) to Current Liabilities
(1)) Working Capital 4 o

3.03.000

= @ @/ (j) T (i

(i) aﬁm%waﬁa%ﬁmaﬁwmﬁfmm 1.75:1

(i) TFE <TawRl @ R i
‘ TR HURT BT U (SR
IR I Joig) W ( 1251
(ili) HrdMe gt 33 0; 060
Explain with reason w] ot
h . .
fgpyan vith re ether the following will effect the fund
(i) Sale of'machinery to repay the creditors ?

(4)

(i) Purchases of plant in exchange of fully paid-up shares.
(i) Furniture purchased on credit.

(iv) Depreciation of fixed assets.

a7 FrERMEd B9 g fawor B T H3, SRV Hed
e BT :

@) AR @ gEn @ R w0 A R

(ii) Tﬁﬁs—mﬂuﬁzﬁmﬁmaﬁ@ﬁa

(i) Bfee R AL T FHR

(iv) ¥Td HaRkidl & e

4. The following is the Balance sheet of Ram Ltd. as at 31* March

2018. (8]
Liabilities Amount Assets Amount
Q) [\J)

" 2500 equity shares of Z100 each 2,50,000 | Fixed assets 7,00,000
5000, 12% pref. shares of 50 each 2.50,000 | Current Assets 3,00,000
Reserve & surplus 2,50,000
Sundry Liabilities 2,50,000

Total | 10,00,000 Total | 10,00,000

The normal earning rate in similar companies is 15%. Ascertain
whether the company is properly capitalised when earnings
available for equity shareholders are

(i) T24,000, (i1) ¥1,20,000. (1) 75,000

31 qﬁizmaﬁwmzﬁrﬁwﬁﬂﬁ‘%:

2100 SH B 2500 FfaES W 250000 | fraes T ppo—
5000, 12% WRIf¥cCT ¥R, IS0 | 2.50.000 wopE eed 5,00,000
CAR G
TS i, e 2,50,000
oo St 250000

w | omee|  F | DR
e () PT.O.
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CP-1140

T UPR A o FEER A WE IO R 15% §|
W%wmﬁaﬁﬂwﬂwmuﬁ%
siTrnRat @ oy Sucer 3o

(i) 224,000, (i) T1,20,000, (iii) ¥75,000 &1

Explain the following : [8]

(i) Convertible Commulative Preference Shares
(i) Convertible debentures

w1 &1 TmERy

(i) R FTd grifrear

(i) 9RacHra or o

Is over capitalisation is greater than under capitalisation ?
Explain. ' (8]

T SRR SFeT—oTeRer I 7T ¥ ? FHNSY |

A company is examining two mutually exclusive investment
proposals. The management uses Net Present Value (NPV)
method to evaluate new investment proposals. Advise the
company which proposal should be taken up by it
Depreciation is charged at straightline method. [8]

Year Cash Flow Before Depreciation and Tax
Proposal I Proposal II

1 year 38,000 38,000

. M year 38,000 146,000

Il year . 38,000 50,000

IV year 38,000 38,000
Cost of capital is 10% 10%

Cost of project ¥46,000 750,000

4 years 4 years

Salvage Value (after useful Life) 26,000 £10,000
Tax Rate 50% annually 50%

Note: The present value of T1.00 at 10% Discount Rate:
(6)

Hi v

0.751

I I

0.909 0.826 0.0853

Wmawmﬁﬁmmﬁmmw%n

aq RFET gEE @ e a1 B e gE e

ga .
@ﬁﬁﬁmmﬁlmﬁaﬁmmﬁs@m-
< gedTd o AR | BT T v gl W e S g |

ad B 9 A f&i qAHs Ya©
sea 1 s 11
ord 38,000 38,000
frchra 38,000 46,000
e 38,000 50,000
et ¢ sBow om0
LSUCIIGIRE 10% 10%
qRERAT B AT 246,000 50,000
SiraA 4 T 4 |
IR YA (Suarfl aEh 3 d1€) 6,000 10,000
TR R 50% ST 50%
S T U A e FT KA e 10% g W W
. B
1 11 111 v
0.909 0.826 0.751 0.683
” (8]
. Write short note on “Game Theory ™.
’ “ghrel (@ﬂ)mﬁ’wmﬁmﬁﬁml
SECTION - C
g - |

. . - the
te the following ratios used 1N

shed accounts of compantes -

9. Explain and llnstra
interpretation of publi

(i) Liquidity Rato
CP-1140

P.T.0.
(7)

o
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(ii) Stock Turnover Ratio

(iii) Average collection period

SETERY Hied |HST ¢
(i) TR U

(i) = JTqdt argura
(iii) T T rafy

10.

(@) &1 gui AR

11.

Balance Sheet of Anita Ltd

'[7+7+6] Additional Informations :

Describe the factors affecting working capital requirements
20)

From the summarised balance sheet of Anita Ltd as at 3]
March 2017 and 31* March 2018 you are required to prepare a
fund flow statement for the year ended 31% March 2018,

Workings (ledger A/cs) should be part of your answer. [20]

Liabilities Figures as at Assets Figures as at(]
" 3" i kI
March March March March
2017 2018 2017 2018
g T i i
Share Capital 5,00,000 | 6,00,000 | Plant and | 3,00,000 [ 2,50,000
Machinery
General Reserve 80,000 1.20,000 | Land and | 2,00,000 | 4,00,000
Building
Profit & Loss 60,000 | 1,00,000 | Stock 2,60,000 | 2,00,000
Alc
Bank Loan | 1,00,000 20,000 | Debtors 1,00,000 [ 1,50,000
(Long term)
Provision  for | 40,000 60,000 | Bank 50,000 60,000
Taxation
Sundry creditors | 1,20,000 | 1,60,000 | Advance tax 30,000 50,000
Outstanding exp 40,000 50,000
Total 1 9.40,000 [ 11.10,000 | Total 9,40,000 | 11,10,000

CP-1140

(8)

ey,

ot

(i) Income tax for the year 2016-17 was settled at 44.000.

(ii) ASSC_tS of é.lnother company was purchased for a purchases
c0p51deratlons of ¥1.00,000 payable by the issue of fully
paid-up shares. Assets were land & building ¥40,000 and
stock ¥60,000.

(iii) A machinery costing 750,000 (Book Value ¥20.000) was
sold for 10,000 and the Loss being written off against
general reserve.

(iv) Stock as at 31" March 2018 was overvalued by Z50.000

(v) Outstanding exp. paid during the year 2017-18 Z45.000.

(vi) Treat Provision for taxation and advance tax as non-
current items

(vii) No depreciation charged on land & building.

amg Afer ferfics & 31wl 2017 @ 31 W 2018 @1 AR
free A 31 A1 2018 B FAG a¥ @ forg B vaE AR FR
Y | PR AN (@R afe) T & SR BT R BN

MY |

It fifes & 399 die
3r*aEl| 31" amEl eS| 3t ad
2017 2018 2017 2018
k4 4 E4 z
i T 3R 3,00,000 | 2,50,000
SRR 5,00,000 | 6,00,000 | §EH 00,
b LEGEE
| Rord 80,000 | 120,000 | ¥f% 3R ¥e= | 2,00,000 | 4,00,000
o™ 3R ' | 60000 | 100000 | W 260,000 | 2.00,000
Alc
EEg T | 1,00000 | 20000 | FUTRTAT 1.00,000 | 1,50,000
) 60,000
&EH & fog | 40000 | 60,000 5 50,000 )
50,000
Rfw der | 120000 | 160,000 | 3 FX 30,000 .
IHIET 000
Gkl | 400%0 = 9.40,000 | 11.10,000
e o [ s | oo
P L L P.T.O.
CP-1140 (9)
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12.

CP-1140

(i) af 2016-17 B el SIED ?44-00%3le();;“; .

@ m%mﬁ@w,mwﬁwmmv
@ fnfe g <4 € mﬁmﬁﬂ off
(1) 4 @ wa= ¥40.000. (2) TP 760.000 |

(i) TP 7 frge T ¥50,000 (JRP el 120,000) o
210000 ¥ ¥ & T T M B WHG HIG
gferRaa fean |

(i) 31 7 2018 B W BT 50000 H eI fry |

T |

(v) T 2017—18 ¥ 3red & B T 45.000.

(vi) B @ 10 grgumE g ofim FR B IR A AT A |
(Vi) 4 T Waq R P FN A6l T8l (ST T

B Ltd. is producing three types of products. The production

cost and selling price per unit are given below : [20]

A B C

3 4 4
Selling Price 80 120 122
Material 36 52 60
Wages 14 18 20
Variable overheads ' 04 06 06
Fixed overheads ’ 10 16 18
Production in units 4000 2,000 5,000

The production manager wants to discontinue production of
one product and guarantees that production of two other
products shall rise by 50%. He wants to discontinue A as it
appears to be least profitable.

(a) Do you agree to the scheme in principle,

(10)

) if 0, df> you think that the production of A should be
discontinued ?
& RIS T IR & Iiet a1 Seare o vE R | g
aft gmi IS & 7 fgg I 7 yoR R -

A B C

4 4 4
fapa T4 80 120 122
et 36 52 60
FAG! 14 18 20
JRuae AAESH 04 06 06
I AaReSH 10 16 18
g@rgdl # SdeA 4,000 2000 5,000

I YD [F IAE B Idied Dl g dxAT dAedl &
7 TR ol ® fF 99 3 Il @ Sared ¥ s50% 3hE &
SRR | 98 ST A B 95 Bl el & i a8 a9
FH AU T BT & |

(a) Fa1 MY RIgT wU F §9 Ao J FEHd €,
(b) afX &, O T AT A FT I & a7 B ARV |

“1149 (11)
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=5 CP-1140

4 M .Com. (Previous) Examination, 2019

ACCOUNTANCY & BUSINESS
STATISTICS

First Paper
(Management Accounting and Financial
Control)

Time allovwed : Three hours
Maximum Marks : 100

SECTION-A (Marks2 x 10=20)

Answer all ten questions (Answer limit 50 words).
Each question carries 2 marks.

Qg — 3 (FH 2 x 10 = 20)

quEd €] Y1 o 3o difou (ST HiW 50 vise) | T
Y99 2 FE BB |

SECTION -B (Marks 8 x 5 = 40)
Answer any five questions out of seven (Answer limit
200 words). Each question carries 08 marks.
WUE - (3% § x 5 = 40)
g # & foredl aie sl o IR e | (3w 200
9Ieg) | Iceh YT 08 31 H1 ¢ |

CP-1140 1 P.T.O.
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SECTION-C

Answer any two questions out of four (Answer limit
500 words). Each question carries 20 marks.

guE-d (3% 20 x 2 = 40)

TR O § 51 g U 5 3 A0 (I = 500 =) |
TEF U9 20 FF H1 2 |

(1)

(1ii)

(iv)

(v)

(vi)

CP-1140

SECTION - A
e -
State any two functions of Management
accounting.
T&Y TG & &1 HE qA13 |
Explain any three limitation of financial
statement.

faefrg fagron &1 €= D F913T |

What is trend analysis ?

g fawerm w2 ¢

What do you understand by
capitalization ?

ifer sferTon & 37T A HHEA E 7
What is mean by “Return on capital
employed™ ?

“sroger G O e 8 A A R 7
What is weighted average cost of capital ?

¢ft <1 i aftea amTa R 2

over-

2

(Marks 20 x 2 = 4(},\

-

s

A (viD

(Vi)

(1X)

(x)

CP-1140

State two difference between management
and Financial accounting.

TH=] TG4 UF (o e § SR @ s5m
FATZT |

When current ratio is
networking capital is T 36,000, calculate the
current assets and current

7 - ]

and the

amount of
liabilities.
F9 T IIE 2.2 ¢ | AU 9 FAA 1A
% 36.000 71 A1 97 FEIfAdl va = arfaa
&1 o Hrf A |

Give formule for first and second method
as suggested by Tondon Committee.
Fe wfifa zm Eé T e 3 e faf %
@t |

Calculate fund from operations from the
tollowing information :

Closing Balance of P&L  account
T 2,00,000, Depreciation ¥ 20.000. Non-
operating expenses and Losses written off
T 60.000. Non-operating Income T 40.000,
Opening balance ot profit and loss account
T 60.000.

‘ g ¥ Ui sl o
Eﬁﬁt{ H
-1 @ 1 37 99 2 2,00.000, B
% 20.000, aferRga M-vfameH =@ @
&l % 60,000, R-aferem 3ma T 40,000
AT~ @ 1 IR 39 T 60,000

3 P.T.O.
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SECTION-B

Tg-§
2. Difterentiate between cash tflow and tund tlow
statement.
i Yar faam 3 @ war faam i sww
Hifav |
3. Discuss the importance of report for Management.
&Y ] WiAded & TE i faaa1 HIa |
4. You have to assess necessary working capital
from following information.
frfafaa guan & 31! 3TEvaS FEie 4 F
Cost per
unit (%)
Raw material 200
Direct Labour 100
Overhead
(Excluding depreciation) 250
Total cost 550
CP-1140 4

Estimated data tor the fourth

—3 coming period are
given below
WH AT Fa F g wiEr AR o
(1) Raw material in stock Average
O weeks
(2) Work in progress (Assume  Averaue
50% completion, Stage with 2 weeks
100%% material consumption}
(3) Finished goods in stock Average
4 weeks
(4)  Credit allowed by suppliers Average
4 weeks
(5)  Credit allowed by debtor Average
6 weeks
(6) Cash at bank expected tobe T 75,000
(7)  Selling price T 80 per
unit
(8) Output 52.000
units  per
annum.
Assume that production is sustained at an cven
pace during 52 marks of the vear. All sales are on
credit basis.
52 9R § 3Iured guE v § 9 @A 21 9ep
farshl 3um amam w ¥
CP-1140 5 P.T.O.
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5 The ratio relating to Sterling Ltd. are given below — — ——— e
. , - | | 31-3-2017 | 31-3-2018 |
Qﬁﬁﬂfﬂfﬂ'{ngm Wﬁaﬁfﬂm? : : Particulars . ' . i
. ; ‘ | Ld] | t4) |
(iy  Gross Profit Ratio 15 percent i - w T —
) ' Inventories 72.000 59.000
(it)  Stock velocity 6 month ; 1 - ;
. . | Debtors L6000 | 94000 |
{iii) Debtor velocity 3 month ! ‘: , | i
. _ | Prepaid expenses | 3.000 14000
(iv) Creditor velocity 3 month 7 i i é
o i { Creditors C78.000 0 82,000
Gross profit for the year ending March 31. 2010 f ; ' -!
amounts to ¥ 60.000. Closing stock is equal to  Income Tax payable | 19.000 | 12,000
opening stock. Depreciation expenses of ¥ 49.000 and gain on
Find out : sale of investments ot ¥ 8.000 appeared on the
rofit and loss account for the vear ended March
1 hifsu p 5 . e .
31. 2018. Income tax payable last year has been
(i)  Sales paid in current year.
(i1)  Closing Stock Calculate net cash flow from operating
activities using the indirec L
(i) Sundry Debtor wctivities using tl‘1e mdneuf ‘mcth‘oc ‘
. , 31 O, 2018 1 FHTA &4 a1l a¥ & FH-TH
(iv)  Sundry Creditor - <~
@A § g & T 49.000 au fafwmm i fak
o 19 T 8,000 ST T4 R | A FH &I HFH T,
6. Misthi Ltd. reported a net profit after tax of £ 5
o . : T T IehA TR |
¥ 3.40.000 for the year ended March. 31. 2018.
506—13\2.m balance sheet accounts on March 31. gy fafa &1 v wa gC R
2009 & 2010 are f “ s
& 20 ‘arc tollows : fshanati & vg Treke yaTg 1 TR HITAT |
e %VWFW? Z€ A 31 W, 2018 1 HETA £ e I8
% 16T T U7 I[g oY T 3 gferafea fema -
313175 201 3_1; i 3 .\.40,000 Tad e Discuss the essential qualities of financial
gﬁ 5 » 2009 T 2010 1 Fraf2E fagi & @ statement.
TA$NE : ferefra ferarcoti 3 smarares 1or 1 AU 1T |
CP-1140 6 CP-1140 7 P.T.O.
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8. The capital structur¢ of Vandana Ltd. is as under
O. ¢

e s 1 e
)

2000 6% Debenture of I 100

each (First issue) 2.00.0000
1000 7% Debenture ot I 100

each (Second each) 1,00.000
2000 8% Cumulative preterence

shares of T 100 each 2.00.000
4000 Equity shares of T 100

each 4.00.000

Retained earnings 1.00.000

The earning per share of the company in the past
years has been ¥ 15. The shares of the company
are sold in the market at book value. The
company’s tax rate is 50% and shareholders
personal tax liability is 10%. Find out the
weighted average cost of capital.

T 3 91 H FHEOT 6 gfer 37w 373 T 152 | TN
H I % 379 Tee e WA M 2 | e
HE & 50 Wiawi R qen srwtal i AR
A TR AR 10% B | Wrwa sEd o #
GICEIGE E

CP-1140

SECTION -C
s -d
9. Explain the meaning. scope and objective of
Management Accounting.
Y=Y TRETRA H1 31, &7 TE L ) T i |
10. What do you understand by Capitnl Budgeting 2
Explain the importance of Capital Budgeting.
I3 woeA | 379 w0 AW B 7 A w9 F vaw
1 e Frfsw |
Il. You are given the following information
pertaining to financial statements of a firm. You
are required to prepares trading and profit and
loss account and balance sheet.
s %1 1 faeiy faamo smoet fregEm fan mn
2 | 3TTYe] STIR 37 19 9 BT @A 391 qoi -1
qATAT % :
Net Current Assets T 1.00.000
Paid up capital < 3.00.000
Current Ratio 1.8:1
Liquid Ratio 1.35:1
Fixed Assets to Shareholder's 80%
Equity
Gross Profit to ratio 25%
Net Profit to paid up capital 20%
Stock Turnover 5
(Based on cost of sales)
Time average age of outstanding  36.5 days
customers
‘CP-1140 9 P.T.O.
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Hec of products whicly .
are thl.cc [ypts (f | Lh A »

ne their production costs ang \(‘1 JeqTer HHU Uh IU1E F I Hi ¥ ey TrE

(2, There

company is product

selling price per unit are given bc"““; 3 2 ?‘Wﬂm < 3T} % 3?112‘-{ T 50% Wi Iz 6
o apeht e T TG I B 2 TTREL <1 % | 98 3712 A 1 9 e s i
ﬁﬁmmm?{mﬁmqw:ﬂafm TE TEH FH AN T B2 |
TR (a) 1 3T Fgia €9 & 58 Fm @ wem €
A g C (b) Hﬂﬁ,mwm,«mmamm
Product @) @) @ e
Material I8 20 30
Wages 7 9 10
Variable overhead 2 3 3
Fixed overhead 5 8 9
Marginal cost 32 46 52
Selling price 40 60 0l
Net Profit 3 14 9

Production in units 4000 2000 5000

The production manager wants to  discontinue
production of one product and guarantces that
production of two other product shall arise by
50%. He wants to discontinue A as it appears to
be least profitable,

(a) Do you agree to the scheme in principle ”
(b)1f so. do you think that production of A
should be discontinued
1
CP-1140

10
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